
HORNET 600 2007-2012 + 
CBR600F 2011-2012 
HUGGER Part # 071370

Fitting kit:

2 x M6 x 16mm flange headed bolts – CBOL0251

1 X M5 x 16mm flange headed bolt – CBOL0162

Fitting instructions:

Remove left hand foot peg 

Remove chain guard

Remove screws from both brake hose clips on right hand side.

Remove the rear of the two break hose clips

Slide hugger into position from the left hand side. Loosely fix right hand mountings using the 
original fixing for the front mounting with the break hose clip on top of the hugger. Fix rear 
mounting using the m5 bolt (finger tighten both mountings)

Fix both chain guard mountings using the M6 bolts (finger tighten)

Check alignment and tighten.

Please note: check hugger alignment and fasteners periodically.


